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BC = (H-h) tan 8
dQ =V,.2(H—h)tan® .dh

dQ = /2gh.2(H — h)tan6.dh

5
Q= fOH\/Zgh 2(H—h)tan 8. dh =|s,ssQ :l'i5 [2g tan@ .H /2

8
95Q = Ca .75 /2 X tan x H'/2
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b 32 5 po

V(lit)|  T(s) Q(ﬁ) Hicm)| «¢q Q% H | log(Q) | log(H)
5 | 13.09 |381.97| 3.9 | 0.022 | 52.64 | 2.48 | 258 | 059
5 | 20.10 | 248.7 | 2.0 | 0.023 | 39.54 | 1.58 | 2.39 | 0.30
5 | 1459 | 342.7 | 3.4 | 0.022 | 4897 | 2.26 | 253 | 053
Q.
Q=2 J2g bh3? Cy=—
3 Qs
:550,= 16973.7 () C4,=0.022
:550,= 10813.9 () C4,=0.023
25505= 15467.9 (%) € 43=0.022
s 4255 90 e 515 o
: 3 2 2/3
V(it)|  T(s) Q(% ) H(cm)| ¢4 Qs H log(Q) | log(H)
5 | 1041 | 480.20] 4 | 0055 11.8 | 252 | 26 | 06
5 | 175 |28569| 3 |0049| 96 | 2.08 | 245 | 047
5 | 24.04 |[207.96| 2.1 | 0.047 | 845 | 1.64 | 231 | 0.36
_ 8 5/ Qs
Q_15 J2g tanf .H /2 Cd_Q@,:
55Q;= 8731.01(T) € 4,=0.055
550, 5830.54 (7) € 4,=0.049
Cm3
525505= 4424.70 (70 € 43=0.047
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